Muscle relaxants
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pharmacology lecture (5)

-A man suffers from urine retention. After some examinations,
doctor decides to take a biopsy from his prostate by a
procedure requiring about 10 mins. What drug should be used
as muscle relaxant:
A) succinylcholine
B) pancuronium
C) mephenesin
D) mivacurium
E) tubocurarine

Answer: D

‘A patient undergoing thyroid surgery under anesthesia
develops tachypnea and hyperthermia as a complication.
Which of the following agents is most likely responsible?
A) Suxamethonium
B) Meloxicam
C) Gallamine
D) Pancuronium
E) D-Tubocurarine
Answer: A
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